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Worksheet on Counting Quarters
Word Problems

Solve the counting quarters word problems.
> )

1. Jacob has 2 nickels and 2 pennies. How much money does he have?
Answer: 12 cents. Jacob has 12 cents.

2. Ella has 6 nickels and she spends 3 pennies. How much money does Ella
have?
Answer:

3. Liam has 5 pennies, and his brother gives him 2 nickels. How much money

does Liam have in all?
Answer:

4. Ben has 10 cents, and he loses 1 penny. How much money does he have?
Answer:

5. James has 2 nickels, and Abby has 6 nickels. Who has more money?
Answer:

6. Michael has 2 nickels and 1 penny. Aiden has 3 nickels. After Aiden takes

2 pennies from Michael, who has less money?
Answer:
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